08 #Ffd ¥ b 2 Frfipo iz A | ¥R g 34960 - B

M 23

O EE2

% P EEr Y BR
TR 2

- B B
MAE P OF iR ?ifl
s (55

CRESETE S

SRR NS LS S N N A R

— N BRETORT R T RS g N R
LFL=0.55C

;E! P Csté‘ )7;,1.7},].,;\7@ 7%- R * P '}),Lﬁ %ﬁ;ﬁu‘ J;,L )%m,gﬁjfi—* JASNAR ;é f,p'. ;::J.a =z E‘f”LFL
? (20 ~ )

= g R (flash point) 7d 5 B Rt £ 4R pign o ST CRERT -
M ] RN o oY ')\',‘%,Lf_g';iﬂ&(? EN <24’4’\)

A RZRP T IS U A L RIE L (20 )
)k
5= ¥ 4B
S G 2P|
@i %
Hint : d %8en= & 46 R 32 S04 iy eyl 0 = 2

X

o RAGMESEE RE T 2R ARP DR 0 BRI ORI D LB F o -
(16 ~ )

T 1% >SRN A AT L P2 (20 4)



